

7.1 Solving Systems of Equations

I. **The Method of Substitution:** p 452, just read over

Ex 1) $x + 1y = 8$
 $x + y = 20$

$2x + 5y = 80$
 $x + y = 20$

$y = 20 - x$

$2x + 5(20 - x) = 80$
 $2x + 100 - 5x = 80$
 $-3x + 100 = 80$
 $-3x = -20$
 $x = \frac{20}{3}$

$y = \frac{20}{3} - \frac{20}{3} = \frac{40}{3}$

$(\frac{20}{3}, \frac{40}{3})$

I. **The Method of Substitution:** p 452, just read over

Ex 2) $x - y = -4$
 $x^2 - y = -2$

$y = x + 4$

$x^2 - (x + 4) = -2$
 $x^2 - x - 4 = -2$
 $x^2 - x - 2 = 0$
 $(x - 2)(x + 1) = 0$
 $x - 2 = 0 \Rightarrow x = 2$
 $x + 1 = 0 \Rightarrow x = -1$

$x = 2 \Rightarrow y = 2 + 4 = 6 \Rightarrow (2, 6)$

$x = -1 \Rightarrow y = -1 + 4 = 3 \Rightarrow (-1, 3)$

Ex 3) $1.5x + .8y = 2.3$
 $.3x - .2y = .1$

$$\begin{cases} 15x + 8y = 23 \\ 3x - 2y = 1 \end{cases}$$

$$\frac{-2y = -3x + 1}{2} \quad \frac{-2}{-2} \quad \frac{-2}{-2}$$

$$y = \frac{3}{2}x - \frac{1}{2}$$

$$(1, 1)$$

$$15x + 8\left(\frac{3}{2}x - \frac{1}{2}\right) = 23$$

$$15x + 12x - 4 = 23$$

$$\begin{array}{r} 27x - 4 = 23 \\ +4 \quad +4 \\ \hline 27x = 27 \end{array}$$

$$x = 1$$

$$y = \frac{3}{2}(1) - \frac{1}{2}$$

$$y = \frac{3}{2} - \frac{1}{2}$$

$$y = \frac{2}{2}$$

$$y = 1$$